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Answer all the questions:
aqg ‘& (Group 'A’) [3x(1+1)=6]
| (o) % G P e . x G | A AR €, p ¥ATE STy 9 e i
*fa 57g 7 | ;
The selling pric "AWAT amount is Rs. y, what
is the VAT per
(b) Fravieeat GG TG AT
(A) TdT N3
Write theyfomulr its diagonals
d, cm

(b) ﬂ"ﬁa‘ﬂ Sl Yigedl =i T oy AT 7740 '4" -C.f.

xi HT

-c.f.
2 Hrstguar L+—=—— i inagrouped
data, what does i represent for? ! 4
3 (a)mACEDa%ﬂmtme % ; C
ABCD 71 traafaras) wamy | '
From the f;
of ACED
j\f\ ABCD?

7S (b) [“".',' Wq&mﬁmmm 0

gure, write the relation between area
and the area of parallelogram
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(2)
w o’ (Group 'B') [4x(2+2)+3x(2+2+2)=34j
4 (a) R | ARTET T _i% 13046 T TF FMAEAT X = 1.8 96,58 w3
iy A gAC ATEL 13.04,600 FTAfEaT TAL & 7
If 1 US dollar =NRs. 130.46 and | Canadian dollar. =NRsS. 96.58. then
how much US dollar equals with 13,04,600 Canadian doliar?

(b) e.ao,o&ooow?aﬁﬁmgwq%ﬂ‘rzmmﬁﬁ%wﬁmﬁ | arfay

10% #T 238 9w 8T8 ga1 3 aufy qu! qed FHa T 79 7
A house bought for Rs. 40,00,000 depreciates every year by 5% in 2
years and then by 10% for next 1 year. What will be its value after 3

years?
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5 (a) aft UgE 9WaE o et g

GRICE RN
If the are d its perimeter.

(b) | ugd T
m' | T |
Sunil s 1 cm each.
What is

(c) Ferm, &%
g qﬁ' . \

In the figure not . : ‘ 5
triangular prism is 4 Syl g “, =
what is its volume? Find it,

6 (a) & T (Solve): \[3x+1=7

(b) H TR (Simplify): —— 4]
S = T

X2y 2,1 “l=1.2 -

| 'z x a & Ayt T
;2 xa xa® » ¥ =3’ ggahy :
WZ=1T X434 2= | then Prove that:

2 ,"Iv"' ~ -
a® ¥ R syl =a°
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(3) RE-109pr

R 0 -27 9x-3x" =x
(b) gt TR (Simplify): > +

= X

(¢) W TR (Simplify): — 1 " mop

8 (a)PﬂWABCDQGETWWﬂW'{BCEFQW ASCRID Tp

ma@amﬁBE%a.h,CF%@rﬁm 9T,
FHIATR A ABCD &7 &thel Uil @S are |

In the figure, ABCD is a parallelogram and BCEF B C
is a thombus. If BE =8 CF =6%emythen find

5 0%and dvice ‘)/

9 () feguat femm AB =6 @.R7., ZABC = 60°
AABC @ & 1843 @t @.f. g1 BC @
qHATE BT g7 7 e TSR |
In the given figure, AB = 6 cm, ZABC = 6(° Jo“s

——

‘ and the area of ABC = 18,3 sq.cm. What is 60°
- lengthof BC? Findit. — B
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(b) ST G 75 wust uger avfier aengwar sgafirda weaad 27 § | u8er
mmtmﬁwﬁwﬁm% WOg | TE HeAE B
B9 7 Ol SSHen |
The arithmetic mean of a grouped data is 27 whose total terms is 75.
It was later found that the product of the mid-value and frequency of

one observation was misread as 43 instead of 53. What is the correct
mean of the data? Find it

10 (a) rdt Refeusr 52 w=it qraa wger Tedare R tger @ Refedr | IE
lTEY El CHHT AT HTETT NPT T T+ oAl BT &7 7
A card is drawn randomly ﬁ-o m 4 well-shuﬂ‘]cd pack of 52 playing cards.

[10x4=40]

11) 100 AN IUGG | At

15
RECRIE
In a surve
these, by
curd.

1. 1£15 like none of
le'like both milk and

L 12) e A AR 109 GRSl ¢ v frat At | af
,z) Far & 1,52,550 frthe KR B WWWWW
| TSI |

4! ' A photocopy machine was sold allowing 10% discount and levying 13%
a2 VAT Ifthe customer paid Rs. 1,52,550 for it, find the amounts of discount
e ﬂﬂ‘ﬂ foreft wger Aerch a7 g | Al demE w20 .., smarar
e § TR T Al gEd 9 5 A whﬁmmmm

s 20 €M, lant height of the cone is 5 ¢
e dth Jvolume of the wax required to make the candle.
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14) &.9. gar @amsTerd (Find the L.C.M. of):
a*- b, at+ a’b?+ b* , a’+ a’b + ab’

15) & e (Solve): 4 x 3¥1 - 9=27

16) TS AU T I8 FHIAIRIR WIEEId aAe (TIeTH SAhe aqaT g ¥l
YHITOTE Teare |

Triangles standing on the same base and between the same parallels are
equal in area. Prove it.

) AB=43f. BC=453f, CD=58f, 6 AD=6a.fi1. T ZABC = 135°

Construct a qu#

CD=5cm, A - - Fiangle equal in
area to the qua

18) Faar T %I 33 T
&g 91 92 que®
AGEF T
Yerif.y expé . I double of the
inscribed ang|e ; circles having
radii at least

19) TSer ¥SmE A% S e s
FreTel IH1g IT
A flagstaff is fixed at a corner quare room whose one side is 6 m
long. If the top of the flagstaff'is observed from opposite corner, the angle
of elevation is found to be 60°, Find the height of the flagstaff.

 20) ¥ PRt ceATEE A 32 9, g F AT AT

~ If the median of the given data is 32, find the value of m:

msgggg%-imgmn) 5—15 [ 15-25| 25-35 | 35-4545-55 | 55-65
aroarar () = | 5 8 '

m 9 7 3

d‘p’
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e ‘w (Group 'D") .
21) USeT aARINTE 2 A9E e T = < AR & HA: € 1,680 T4

Thg AN
G | 2 AW IE GIARTH @ ANGTAT g AHAF
LT ST Fiq 931 g7 7 Uil MSTRrd |

: : in sum for 2
The yearly compound interest and simple interest of a cerza";ssthe palf:
years are Rs.1,680 and Rs.1,600 respectively. .How much ﬂ?at eimpl
yearly compound interest opssafie sum andwrate is more than

[4x5 ".-"20]

>UILI dI1C

22) TSET @il FFHTEie. {U] Y ".f-i:_-':;.-j-:?*"""h"“:‘”‘"
20 aﬁ-{ 1-2’3 At o 0 ofy u= &

reduced by 2, the result 1 -
by 15 and 2 is subtracted from th

-3— , find the.fractio-n.

/HE s G F
AGAEaﬁammFBHa’ram-ﬂw y
RIS THEIH |

In the figure, EFGH is 4 ¢

. . rapezium. GE ang ”'
FH are Ifs thodiagonals, If GF//AB//HE ‘
prove that area of AGAE = areg of AFB},{ H
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